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BEFE Features

o KIIFE, KLU
IFCAV) 40A
VRRM 50V

o (SIS, el S R o

| Marking Code
e GT4050D

WARRE (AN BRRBEE

Limiting Values (Absolute Maximum Rating)
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B4MERSFAENE Outline Dimensions and Mark
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Dimensions in inches and (millimeters)

ZHATR (R XA A T4050D
Item Symbol | Unit Conditions GT4050
J52 1) R S Mg A L T _ e T _oms
Repetitive Peak Reverse Voltage VRrrM v r=0.1MA;; To=25°C 50
S g e L LR | A 60Hz E5%¢, HIFLf3k, T.=25C 40
Average Rectified Output Current 0 60Hz sine wave, R-load, T,=25C
IR CRTESD) IR A T
Surge(Non-repetitive)Forward lesm A GOHZ'IbJZ&’ A, Ta:25°C 450
Current 60H;z sine wave, 1 cycle, Ta=25C
T 1) YR FRLUAE AR~ 7 00 FL TR 47
S ol a5 A
Current Squared Time
it A P . ~
Storage Temperature Tstg c -5~ +150
FEIE R FLAAE R, B it in e in) Hs F
b} T c WHE<1ih (KR ©
Junction Temperature ) IN DC Forward Mode-Forward -55 ~ +200
Operations, without reverse bias, t <1
h (Fig. 1)@
mERE (Ta=25C BRIEBFENE)
Electrical Characteristics (Ta=25°C Unless otherwise specified)
SRR (R A MpAtt PN
ltem Symbol | Unit Test Condition Max
E U U
V| \% =
Peak Forward Voltage M IFM=40A 0.6
I [FUEEAEL AR RRM1_| Vew | Ta=25C 0.2
Peak Reverse Current IRRM2 =VRRM | Ta=100"C 100
N - g5 M5 2 ) 10
ShE (e 7 RO J-c e :
AR . ) RO J-1 oW | AiBIEI T CEAA Ik ) 1.0
Thermal Resistance(Typical) R0 J-a ZERFRIE 2 (1) (5% 2 1 9mmAd) 45
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_ FliG4:Instantaneous Reverse Characleristics
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FIG2:Surge Forward Current Capadility
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FIG3:Instantanecus Forward Voltage Te(C)
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